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64-

65-

66-

67-

68-

69-

70-

71-

72-

73-

74-

PART A: Grammar and Vocabulary
Directions: Questions 61-69 are incomplete sentences. Beneath each sentence you will see four

words or phrases, marked (1), (2), (3), or (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

It is common in this college to send the faculty members ......... to complete their survey.
1) homeland 2) abroad 3) continent 4) location

It was definitely hard for the relatives to ......... one twin from another.

1) distinguish 2) elicit 3) confirm 4) boost

Many local people have been enjoying the benefits of that medical center since it was .........
two years ago.

1) inspired 2) founded 3) processed 4) born

Her tears ......... great sympathy from the audience throughout the lecture.

1) appreciated 2) provided 3) generated 4) regarded
Mother Teresa was a great nun who ......... her life to boost education among poor children.
1) behaved 2) managed 3) dedicated 4) spared

I am really decisive not to repeat the mistakes I have ......... all through my life.

1) done 2) taken 3) got 4) made
Not knowing the native language in a foreign country makes it difficult to .........

1) communicate 2) experience 3) exist 4) imagine
Which one is not correct?

1) receiving his diploma. 2) taking temperature.

3) fast meal. 4) By the way.

After China, India ......... the greatest part of the world's population.

1) dies out 2) makes up 3) looks for 4) ends with

PART B: Cloze Test

Directions: Questions 70-74 are related to the following passage. Read the passage and decide
which choice (1), (2), (3) or (4) best fits each space. Then mark your answer sheet.

Is there any (70)......... of life on Mars? Many people have wondered about this question.
Some writers of science-fiction think of people from Mars as little green creatures. Others
(71)......... Martians as monsters with many eyes. In studying this planet, researchers have
found that life may be possible on Mars. The first (72)......... of this is that Mars has
seasons, just like Earth. In other words, Erath's seasons, (73)......... spring or summer,
happen on Mars too. Because these seasons exist, it may be possible for vegetation and other
higher life forms to be found on Mars. However, there are others who feel that life on Mars

is not possible. This is because there is (74)......... or no trace of oxygen on the planet.
1) difference 2) means 3) project 4) sign

1) pick 2) take notice of 3) imagine 4) escape

1) unit 2) hint 3) grade 4) experience

1) such as 2) despite 3) according to 4) based on

1) little 2) a little 3) much 4) alot of
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76-

77-

PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passage 1:

Intentional weight loss is the loss of total body mass as a result of efforts to improve fitness
and health, or to change appearance through getting thin. Weight loss in people who are
overweight or very fat can lower health risks, increase fitness, and may delay the start of
diabetes. It could decrease pain and increase movement in people with osteoarthritis of the
knee. Weight loss can lead to a reduction in hypertension (high blood pressure); however,
whether this reduces hypertension-related harm is unclear.

Weight loss happens when the body is spending more energy in work and metabolism
than it is absorbing from food or other nutrients. It will then use stored reserves from fat or
muscle, gradually leading to weight loss. For sprotspersons seeking to improve performance
or to meet required weight classification for participation in a sport, it is not uncommon to
seek additional weight loss even if they are already at their ideal body weight. Others may be
driven to lose weight to achieve an appearance they consider more attractive. However,
being underweight is associated with health risks such as difficulty fighting off infection,
osteoporosis, decreased muscle strength, trouble regulating body temperature and even
increased risk of death.

What is paragraph 1 mainly about?

1) Ways to lose weight

2) Health risks of fatness

3) Some advantages of weight loss

4) How to have a better appearance through weight loss

The word "It" in paragraph 2 refers to ......... ;

1) body 2) food 3) energy 4) weight loss
Which of the following is mentioned as a problem that may result from being under the ideal
body weight?

1) Diabetes 2) Osteoarthritis of the knee

3) Hypertension 4) Trouble regulating body temperature
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Passage 2:

People love to compare and contrast. In most parts of England, you buy your bus ticket on
the bus. In France, you buy it at a metro station. In Australia, you can buy it from a
newsagent. We all find this kind of comparison amusing. Books on cross-cultural
communication use our curiosity by focusing on differences between people across the
world: in social behavior, the roles they play in society, their viewpoint towards money, the
importance of their body language, etc.

Proxemics, the study of different standards of personal space, is one example. How close
I stand to someone when I am speaking to them depends not only on my relationship to
them, but also on my culture. This is important because if the person I am with is not used to
standing as near as I do when we are talking to each other, they might feel uncomfortable.
Statistics tell us that the average distance at which two people stand in a social context -
neighbors talking together, for example - is anything between 1.2 meters and 3.5 meters. In
Latin cultures (South America, Italy, etc.) and also in China this distance tends to be smaller,
while in Nordic cultures (Sweden, Denmark, etc.) people usually stand further apart.

78- Which of the following best describes the way the information in the passage is presented?
1) A particular event is mentioned and the reasons for its existence are discussed.
2) A general point is made and then a particular case related to it is mentioned.
3) An interesting topic is introduced and the ideas for and against it are stated.
4) Different aspects of the same thing are introduced and are then compared.
79- According to the passage, how close we stand to someone we are communicating with varies

based on the following factors EXCEPT ......... 4
1) our culture 2) our country
3) our neighbors 4) our relationship with them

80- According to the passage, the distance at which people stand in a social context ......... i
1) is 1.2 meters or 3.5 meters all over the world
2) is the smallest in the world in Latin cultures
3) tends to change in the course of time
4) is not fixed under all circumstances
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